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Question Number One: 
1. can lead to overcrowding in cities  / fewer people in country area.
 2. the area has a Mediterranean climate / it is high and not close to the sea/the area has annual rainfall level of 482mm. 
3. The area was particularly well known ……………………….. mainly to export .
4. depopulation.// deserted.
5.  people. 
6. because the cant make money out of them 
7. any relevant answer  
Question Number Two: 
A.   1. recharge      2. skilled     3. challenge     4. purpose
B.  1. peaceful        2.  completely        3. historical
Question Number Three:
 A.  1. built     2. been promising
B. 
1. if she had enjoyed her holiday. 
2. he was celebrating his son’s holiday 
3. must be washed before meals.
 Question Number Four: 
1. busier     2. was completed      3. but    4.  In comparison with     
Question Number Five:
 A. Editing  :    1 .pottery      2. Nevertheless    3.  artist       4. producing
 B. + C Open answer  
